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M.Sc. (CBCS) DEGREE EXAMINATION, APRIL 2018.
Fourth Semester
Electronics
- ADVANCED MEDICAL ELECTRONICS
(For those who joined in July 2016 and afterwards)
Time : Three hours Maximum : 75 marks

PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer :

1. Solid state physical properties for bone include:
Half heat and

(a) Photoelectric effect
(b) Temperature effect
(¢) Heat effect

(d) Strain gauge diagram

)

6. To treat disease the removal o%enes within an

individual cells and biological tissues is done by
(a) Gene therapy

(b) = Tissue engineering

(c) Tissue culturé

(d) Viral vectors

The thermodynamically driven process of Drug
delivery mechanism is called as:

(a) Erosion
(b) Diffusion
(c) Osmosis

(d) Tissue analysis

is the area of human brain which
contains approximately 15-33 billion neurons,
these neurons depend upon two factors:
and

(a) Cerabral cortex, age, gender

(b) Axons, age, gender

(¢) Motor neurons, smoking habits, gender

(d) Cerebral cortex, height, weight
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To avoid ———————— Biomaterials which can
easily degrade in the body are preferable.

(n) Stress Shielding

(b) High temperatures

(¢ Minimum bending

(d) Temperature variation

transducer line and

Bubbles in blood pressure
type of

incorrect placement of transducer are
(a) Insertion error

(b) - Application error

(¢) Dynamic error

(d) Response time error

50-60 Hz noise in E.C.G machines can be reduced
by

(a) Right Leg drive

(b) CMRof instrumentation amplifier

{(c) Notch filter

(d) All of the above

The use of human embroyonic stem cell (hESCs) is
modern aspect of

(a) Extension of life  (b) Tissue Engineering

(¢) Pregnancy (@ Genetic engineering
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The — - aspect of synaptic signaling
process mainly depends on properties of the
neuron’s membrane.

(b) Chemical
(d) Ionic

(a) Electrical
(¢) Synaptic

For pain relieves medical procedures alter the
functions of nervous system’ this is the most
common applications of

(a) G-protein couples receptors
(b) Ligand-gated ion channels
(¢) Neuromodulation
(d) y Neurotransmitters
PART B — (5 x 5 = 25 marks)
Answer ALL questions choosing either (a) or (b).

Each answer should not exceed 250 words.

(a) Explain Kidney Systems.
Or
(b) Explain bio potential electrodes.

(a) Explain Spirometer.
Or
(b) Explain about calorimeters.
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13. (a) Explain doppler effect.
k » Or
(b) Explain blood flow meter.
14. (a) Give the details about imagé intensifier.

Or
(b) Give the details about CAT scan.

15. (a) Give the cbmponents in telemetry system.

Or
(b) ~ Write about shock hazards.

PART C — (5 x 8=40 marks)
Answer ALL questions choosing either (a) or (b).
Each answer should not exceed 600 words.
16. (a) Explain cardiovascular systems.
: Or
(b) Explain EEG
17. (a) Explain sphygmomanometer.

Or

(b) Explain lung volume and capacities.
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18.

19.

20.

(2)

(b)
(2)

(b)
(@)

(b) -

Write in detail about block shematlf: of M

mode.
Or

Explain cardiac imaging.

Explain x ray generation.
‘ Or
Explain fluroscopy-
Explain about intensive care unit.
Or
Explain hemodialysis.
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M.Sc. (CBCS) DEGREE SXAMINATION, APRIL 2018.

w

Second Semester
Electronics
EMBEDDED SYSTEMS
(For those who joined in July 2016 and afterwards)
Time : Three hours Maximum : 75 marks
PART A — (10 x 1 =10 marks) 4.
Answer ALL questions.
Choose the correct answer : ‘
1 Embedded systems applications typically involve
processing information as
(a) Block level '
(b) Logical volumes
()
(d) _Signals

Distances

6. Average.time for a particular task is constrained |
as well as is number of instances when some {
maximum time is exceeded, stated approach is

known as

(a) hard real time syétems
(b
©
GV

73 Radio signals are. first received by antenna, ;‘l
amplified, passed through a mixer, then filtered, !

means —m——— : $ “
(a) ‘

(o)
(©
@

8. Caches can be converted in to software managed

13
s

{
real data constraints
real time constraints

soft real time systems

m'odulated
o!emodulated ] ; .
cellular telecommunication f 4

cellular telephony

on chip memories via

(b) Seek time
(d) Line blocking

B]ock level

(a)
©

Stage that reads program data from memory in to |7
instruction buffer queue is known as &
() (b) address stage ,

i

(c) (d)  fetch stage i

1%

B2 13.

Line locking

©

execution stage

decode stage
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11.

Deadline-driven constraints so ealled ——

(a) Reality time constraints

(by Real time constraints

(c) Real data constraints

(d) None of the above

Processor must accept and process frame before
next frame arrives typically called —

(a) Hard real time system

() Real time constraints

(¢) Real data constraints

(d) Soft real time system

Which among the below stated lines represent the
handshaking variant usually and only controlled
by the software in the handshaking process?

(a) XON/XOFF (b) DCD and GND
@ TD and RD (d) All the above

Caches can be converted in to software managed

on-chip memories via
(a)
@

block level (b) seck time

line locking (d) line blocking

Code No. : 6996
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Ex.ponent variable is often shared by a set of fixed
point variables, this style of arithmetic is also
called

(a) unblocked floating point
(b)  blocked floating point
(© blocked fixed point

@ | unbl‘ocked fixed point

PART B — (6 x 5 = 25 marks)
Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

(a) What is a control system?
Or
(b) Write the requirements of embedded
systems. S
(a) Draw the architecture of micro controller.
Or
_(b) - What is voice-over IP?
(a) What is protocol controller?
i Or
(b) -Write about communication interference
channel.
Page 4 Code No. : 6996
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How will you sent a message over a serial
link?

14, (a)

! Or
(b) Write an embedded database application
using example as salary.

15. (a) = What is Networked Java?

Or
(b) Explain mobile java applications.

PARTC— (56 x8=40 mari{s)
Answer ALL questions choosing either (a) or (b).

Each answer should not exceed 600 words.

16. (a) Explain the requirements of embedded

systems.

4

Or

(b) Explain the detail process applicafion of
embedded systems in consumer electronics. '

17. (a) Write in detail about serial communicatiofl
with 8051 family of micro controller. - i

{
!

Or .‘
f

(b) Explain voice-over IP. 1

Code No.: 6996
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18. (@)
()
19. (@
(b)
20. (a)
(b)

TExplain communication interface standards.

Or
Explain the types of embedded operating
systems.

Write about sending a message over a serial
link. :
Or

Explain about controlling an appliance from
the RT linux system.
Write in detail about ~ mobile java
applications.

Or

Explain in detail about (SOC) system on a
chip.
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M.Sc.
c. (CBCs) DEGRER EXA.\I[NATION, APRIT 2018
Fourth Semester -

Electronics -
ADVANCED MICRO CON’I‘ROLLERS
(For those who joined_in July

‘ 2016 ang afterwards)
Time - Three hours

Maximum 1 75 marks
PART A _ (10x1=1g marks)
Answer ALL questions,

Choose the Correct answer -

1: Which base-register

calculation of a byte t
Program memory by
indirect addressing m

is preferred
hat is to be
base-register

for address
accessed from
plus register-

ode?
(a) DPTR
-(b) PSW
(© PCON

(d) Al of the above

ST S e W . < - :

5. Which instruction should be a’opted for moving
an accumulator to the register from the below
mentioned mnemonics?

(2 MOVA, R, (®)
(@ MOVR, A @

MOV A, @ R;
MOV direct, A
6. What does the instruction XCHD A, @R signify

during the data transfer in the program
execution?

(a) Exchange of register with an accumulator”
. (b)
(c) Exchange of indirect RAM with accumulator

(d) Exchange of low order digit indirect RAM
with an accumulator

Exchange of direct byte with an accumulator

T Which flags allow to carry out the signal as wsll as
- unsigned addition and subtraction operations?

(a) CY () OV

¢ AC (d Fo
8 How many bytes are supposed to getﬁoccupi:i
- while subtracting indirect RAM dori-l an

accumulator along with borrow unde

execution of SUBB A, @Ri?

(@ 1 () 2

(-3 (el
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~ v

{
i

§53
26 AL W SR o S i AL
NG

[

What does the

Instruction MOV e

A #3510
atype
Indirect datatype

(@) Direct dat
(b)

© Immediate da tatype

(d) Indexed datat_\pc
How many single byte, two-by
mstructions are supported by»
overall instruction set?

te and threc-byte
MCS-51 form the

@ 55— single byte, 35

: two-byte and
byte structions

21 three-

M) 50 - single byte, 30

: two-byte and 31 three-
byte instructions

(C) " #42 = single byte, 43

: ‘ two-byte and 24 three-
byte instructions

(d) 45— single byte, 45

' two-byte and 17 three-
byte instructions

4. What kind of PSW flags remain unaffected by the
data transfer instructions?

(@) Auxillary Carry flags /\‘A\
(b) Overflow Flags NS
© Parity Flags .

\.'*"\
¥
(d Al of the above \\S\
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What can be the oscillator period for the

multiplication operation of A and B in accordance
to 16-bit product especially in B:A registers?

(@ 12 b 24
(© 36 d 48

S.

10. Which form of instructions also belong to the
category of logical instructions in addition to
bitwise logical instructions?

(@) Single-operand instructions
(b) Rotate instructions
(¢) Swap instructions
(d) All of the above
PART B — (5 x 5 = 25 marks)
Answer ALL questions choosing either (a) or (b).
Each answer should not exceed 250 words.

11 7'(a) D{aw the architecture of ATTiny 15L
P/controller.

Or

(b) ~ Explain reset and interrupt handling.
12. (a) Explain EEPROM.
Or

(b) Explain about fuse bits.
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Explain PMW mode.
Or

(b) Explain ideal timer.

14. () Write in detail about Baud rate generation.

Or

(b) © Write in detail about Microwise Interface.

Draw the architecture of ATTiny 15L

15. (a)
s controller.

Or
(b) Explain SPT modes.

: PART C — (5 x 8 = 40 marks)
Answer ALL questions choosing either (a.) or.(b).
Each answer should not exceed 600 words. A
16. (a) Explainatmel AVR family in detail.

Or

(b) Explain I/O space.

17. (a) Explain ADC noise reductibn.

' Or

(b) Explain memory programming.

Page 5 f
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18. (a)
(b)
19. (a)
(b)
20. (a)
(b)

Write about the pin descriptions

COP8CBRI. .
Or

Explain boot ROM.

Explain the interrupts in COP8 family.
Or

Explain dual clock operation.

Explain about file register file map.

Or
" Explain I/O ports.
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If level of modulation is increased -

power is increased

‘(a) Carrier

(b) Side band‘ 3 ',
(¢) Carrieras well as sideband i |
(d) ‘None of the above

In TV transmission, picture signgl is el
modulated P ;
(a) Frecihéhcy ; ; '

(b) Phase ;

(c) Amplitude k 2

(d): None of the above

In a radio receiver. noise 18 generally developed at
- —

(a) [IF stage e

(b) Receiving antenna s
(¢) Audio stage ‘
(d) RF stage -

o Page 3 Code No. : 7179 ;
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(b) Explain phase modulation.
12. (a)  Explain FM transmitter.

9. Man made noise are __ _  variations
(a) Amplitudé
.(b) # Frequency
(c) Phase ‘ % 7
(d) . Both phasé and frequency *
10, The signal voltage included in the aerial of the
radio receiver is of the order of —
(@) mv ® v
(© vV (d) None of above

: PART B —(5x5=25 marks)

Answer ALL questions choosing either (a) or (b). ,

Each answer should not exceed 250 w_girds. S

(a) Explain communication system.“
e ) Y

Or

Explain FM demodulators.

Explain IF amplifier. -
Or ;
per Retrodyne receiver.

Code No.: 7179
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14. (a) Explain suppression of carrier.
Or
(b) Explain the pilot parrier receiver.
15. (a) IExplain pulse and tone signaling.
Or
(b)  Write notes on facsimile.
PART C - (5 x 8= 40 marks)
Answer ALL questions choosing either (a) or (b).

Each a_@swer should not exceed 600 words.

16. (a) Write in detail about USB and LSB power
- relation. i

{ or ¥
(b) Compare AM, FM and PM.
17. (a) Writein detaii about reactance I'nodulator.‘
' Or
(b) Write in- detail about \‘zarac_tor dibde |
" Modulator. :

Page 5 Code No.: 7179

(a) Write in detailxabout mixer circuits.

18.
Or ) .
(b) Write in detail about automaticvgain control
circuits. s
19. (a) Write in detail about filtering of unwanted
. sidebands.
Or
(b) Write in detail about single side band
transmission.
20. (a) Write in detail about electronic telephone.
Or
() Write "in  detail about power line
communication.
/ I 3
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M.Sc. (CBCS) DEGREL EXAMINATION,
APRIL 2018. .

Sccond Semester

Electronic and Communieation 4.
MICRO CONTROLLIERS

(For those who joined in July 2017 onwards)

Time : Three hours Maximum :
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ch of timer can operate

nge of ad ‘}'cssablc
RAM.

(©7 00H to 7

In Atmel AVR} _
in the 16-bit condjti

(@)  Timer O
(c) Timer 2

o

(b) Timer 1
(d)  All of the abo

Ifuse bits are programmable in
(n) High-Voltage scrial programming modes
(b) Low-voltage scrial programming modes
voltage

(¢) Both High and Low ——

programming modes

(d) Noneoft
¢ction CBI port B 1 means

(a) Clearing the port B register

Clearing the first bit of the port B register
(¢) Setting the port B register

.(d) Sectting the first bit of the port B register

\ In’ COPCBRY processor, the ACD converter takes
to complete the co sion

()
(d) 25 clock cycles

15 clock cycles

COP 8isa architecture
(a) RISC . (b) V(;n Neumann
(c) Harv‘ard . (d) Modified Harvard

_Page2  CodeNo.: 7181

T The common application of HALT mode is -
(a) Used in laptop keyboards

(b) Used in Remote control

(cl) Logging the data et 11.~

(@) Used in motor control _

8. What is the function of SCON register? \
(a) To control SBUF and SMOD registers
(b) To program the start bit, stop bit and data

bits of framing ; . 12.

(c) Both of the above

(d) None of the above
9. In PIC 16F873 processor, which port is 6-bit wide?
(b) PortB
Port D

(a) PortA
(c) PortC (d)

13.

10. Abbrevartion for I*C is )
(a) Inter Integrated Circuit : j
(b) Intel integrated Circuit
(c) Integrated Inter Circuit

(d) International integrated Circuit

Page 3 Code No. : 7181

PART B — (5§ x 6 = 25 marks)
Answer ALL questions choosing either (a) or (b).
Fach answer should not exceed 250 words.

(a) Explain the internal and external memory
interfacing of 8051. ’

Or

(b) Briefly explain the addressing modes of
ATTiny 15L controller.

(a) Write about the various functions used
Timers.

Or

(b) With neat diagram explain the function of .

Analog comparator in Timer.

(a) Briefly explain the concept of I/O port
configuration is COP 8CBR9 processor.

Or
(b) Explain the folléwing:
(i)  Option Register
(i) Virtual EEPROM.

Code No. : 7181
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PART C o (B x 8 & 40 mavka)
Answer the following by choosing either @) o (b,
Each answer should not oxcend GO0 words,
16, )

How many ports e available in 8031

microcontrollor? Bxplain the port \\pm‘.mnm
With neat dingrans,

Qv

N

(M) Explain the handling methods of Reset and
Interrupt vectors ATy 1L controller,

17, @ BExplain in detadl about ADC noise \\\d\\mnn

techuiques in tiners,
Ov

O With a neat diageam explain port B vegistors
and their functions,
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B.Sc. (CBCS) DEGREE EXAMINATION, APRIL 2018.
Second Semester

Information Technology Allied for Electronics/
Electronics & Communiecation — Allied

PROGRAMMING IN C
(For those who joined in July 2016 onwards)

Time : Three hours Maximum : 75 marks

PARTA—(Q0x1=10 marks)
Answer ALL questions.
Choose the correct answer :

PART B — (5 x 5 = 25 marks)
Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

11. (a) Discuss about conditional and bitwise'
operators.
Or
(b) Write about increment

and decrement
operators in C with examples. 3

Page 3 Code No. : 21183
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13.

1 In C, execution starts from function.
(@) Main () (b) Library
(¢) Header files (d) User defined .
2. ———— operator is known as the conditional
operator.
@ || O &&
@ |2 (@) %2
o e
PS4 £ S T PN ST LA »‘,...’_.{B;..i:._u.—,-m%. AT
8. The parameters associated with called function is
known as parameters.
(a) Formal (b) Actual
(¢) Global (d) Bind
9. EOF isa data type.
(a) double (b) char
(c) string (d) integer
10. Which mode is used to open an existing file for
both reading and writing?
@ r ® w
© r+ @ w+

14.

15.

— loop is an  Entry-controlled loop

statement,

() Do (b)y TFOR

(¢) WHILE (d)  Do-while

A loop can be termined using the —————
statement.

(0)  break ()  continue

() goto (d) none

Character Array is declared as —————

(@  char afw]; ®) int+ afw);

() string a[w]; (d) float a[u'];

If the two strings are identical, then stremp ()
function returns

(@)
) O

-1 b 1

(d(\'ES

In structures, each member has its

(@) Own storage location
(b) Common storage
(¢) Own buffer
(d) Stack area
Page 2 Code No. : 21183
®
(@ Write a C program for finding the greatest
among given 3 number.
Or
(b) Give the syntax of switch statement and
state the rules.
(@ Write a C program to find the average of n
numbers.
Or
(b) Write a C program to sort an array of
integers.
(@ What are structures? How will vou initialize
structures in C with example.
Or
(b) What is recursion? Discuss about recursive
function with example.
(@) Describe the concepts of pointers.
Or
(b) Discuss in brief on random file access.
Page 4 Code No. : 21183
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PART C — (5 x 8 = 40 marks)
Answer ALL questions, choosing either (a) or (b).
Each answer should not exceed 600 words.

16. (a) Explain operator precedence and

associativity.
Or

() Discuss in detail about formatted output
with suitable example.

Explain Else if statement and nested if
statement with example |

17. (a)

Or
(b) Explain about J‘
(@1 While
(i) Do-while ,
(iii) For-statement

Explain multi dimensional array and write
a program to find the row sum of the given
nxm matrix.

18. (a)

Or

(b) Describe string handling function.

Code No. : 21183
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19.

20.

(@)

(b)

(@

(b)

How can you categorize the function in C
explain?

Or

Discuss the following :

(i)  Structures within structures

@ii) Structures and functions

Discuss the input operations on file.

Or

Discuss how to access a variable through its
pointer.

Page 6 Code No.: 21183



(6 pages)

Code No. : 6996 Sub. Code : KELM 22/

PELM 22

M.Sc. (CBCS) DEGREE EXAMINATION, APRIL 2018.
Second Semester
Electronics
EMBEDDED SYSTEMS )
(For those who joined in July 2016 and afterwards)

Time : Three hours Maximum : 75 marks

PART A — (10 x 1 = 10 marks)
Answer ALL questions.
Choose the correct answer :
1. Embedded systems applications typically involve
processing information as
(a) Block level
(b) Logical volumes
© Distances

(d) Signals

6. Average time for a particular task is constrained
as well as is number of instances when some
maximum time is exceeded, stated approach is
known as

(a) hard real time systems
(b) real data constraints
(¢) realtime constraints

(d) soft real time systems

7. Radio signals are first received by antenna,
amplified, passed through a mixer, then filtered,
means
(a) modulated

_ () demodulated
(¢) cellular telecommunication
(d) cellular telephony
8. Caches can be converted in to software managed

on chip memories via

(a) Block level (b) Seck time

L (©
S
9 Stage that reads program data from memory in to
instruction buffer queue is known as ——————

Line locking (d) Line blocking

(a) execution stage (b) address stage

(¢)  decode stage (d) fetch stage

Page 3 Code No. : 6996
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Deadline-driven constraints so called

() Reality time constraints

(b) Real time constraints

(¢) Real data constraints

(d) None of the above

process frame before

3. Processor must accept and
! next frame arrives typically called

i (a)

(b) Real time constraints

—_—

Hard real time system

(¢) Real data constraints

(d) Soft real time system

!: 4. Which among the below stated lines represent the
handshaking variant usually and only controlled
{ by the software in the handshaking process?

i (a) XON/XOFF () DCD and GND
(¢©) TDandRD (d) All the above

5. Caches can be converted in to software managed

on-chip memories via —————

(a) block level (b) seek time

© " line locking (d) line blocking
/

v

{
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10. Exponent variable is often shared by a set of fixed
| point variables, this style of arithmetic is also
called /

(a) unblocked floating point
(b) blocked floating point
(¢) Dblocked fixed point
(d) unblocked fixed point
PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

.Each answer should not exceed 250 words.

11. (a) What is a control system?
{ Or
(b) Write the requirements of embedded
systems. <

12. (a) Draw the architecture of micro controller.
Or

(b) What is voice-over IP?

13. (a) Whatis protocol controller?

Or
(b) - Write about
channel.

Code No. : 6996
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14. (@) How will you sent a mes

Link?

Or

(b) Write an embedded database application

using example as salary.
What is Networked Java?

Or

(b) Explain mobile java applications.

PART C— (5 x 8 = 40 marks)

Answer ALL questions choosing either (a) or {b).

Each answer should not exceed 600 words.

16. (a)

systems.

Or

(b) Explain the detail process application of
embedded systems in consumer electronics.

17. " (a)
Or
(b) Explain voice-over IP.

Page 5

sage over a serigl

Explain the requirements of embedded

Write in detail about serial communication
with 8051 family of micro controller.
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Answer ALy quastions,
Chioodo the eorvool nnswory ;
] The 10| ‘
' it g of  BOK()
! micraproc '
reaponaible to fndiento UALTROERADY: 48
(n)  the condition of vesnll of AL aporntion
() Lhe condition of mamory
(1) the vesull of nddition
() Lhe rosult of gubtrnetion

D :

7. s 81 fi indientod hy = |

(n) ainglo pointer (hy  ntack pointer

(c) pourea pointar () dasbinntion pointer

. he 141 s indientod by ==

(n)  bnne pointer (hy  hinnry pointor

() bit pointar () digitnl pointuer

1, he 849 i enllod np

() winglo pinels ()  wninek pagmaont

() nmummmntual( () random slack

10, The indax registor nra uned to hold -
(0 ImeEmory ropiter = |
(hy  offset pddress
(c) pogment memory

(dy = offsat memory
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1, )
(h)
12, ()
(h)
8 )
(h)

g e I known g
() enrry Hing (hy condition g
() common T () atngle Nag
0o he B s enllad nn
) popvico oy () nlgn Hog
() wingla g () condition flng
A, Tha OF s enllod ny
), overfllow flngg () ovordue Tng
() ono (g by ovor llng
B, Tho Y s endlod o
() initinl Mg ) indiente g
() , Intareupt flag () intor (Ing
i, ha  ropiator  AX s formod by grouping
() Al &AL (hy B & BL
(¢) CH&CH () DIT& DL
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antions, chooting oithoer (W) or (b).

1ol oxceod 260 words,

Jaxplnin the following in intol xBGHmily.

(1) ropintor ot

Gy nddrossing maodon,
Or

Pxplain vonl nned vietunl oxecution,

Joxplinin Pantivm maomory manngoment,

Or

foxplain Pontivmn A mieroprocessors,

Write in dotndl nhout on chip rogistor file Va

eneho ovaluntion.
Or

Joxplinin 1BM RE/G000 in dotnil,
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14." (a) Explain MIPS R4000. ; ' | 19. (2) Draw the architecture of MIPS Rx(00C fzmily.

Or-, . 5, Or
(®  Explain MC 88200, ‘ () Draw the architecture of MC 85110.
15. (a)  Explain A$IP. ", o 90. (a) Draw EPIC architecture.
JEROp - .
Or

(b) Explain network‘ processors. -
(b) Explain DSPs.

SECTION C — (5 x 8 = 40 marks)
Answer ALL questions, choosing either (a) or (b).

‘ Each answer should not exceed 600 words.

16, (a) Draw the architecture of intel x86 family.
: i Or

(b) Explain paging.

17. (a) Write about special Pentium registers. |

: Or {

(b) Draw - the ~architecture of Pentium IV
microprocessor. %

18. (a) Explain single stack, stack segment,
sequence stack and random stack.

Or . : 5 g l
(b) What is power PC? (e i =
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